Common Pitches

Partial (scale)
Partial {reduced)
Ratio to C

Hz

Cants from C
Cents from E.T.

Additional Pitches

Partial
Ratioto C
Hz

Cents from C
Cents from E.T.

Series on C

Partial (scale)
Partial (reduced)
Ratioto C

Hz

Cents from C
Cents from E.T.

Mode on G

Partial (scale)
Partial (reduced)
Ratioto G

Hz

Cants from C
Cents from E.T.

Modes on E

Partial émh)
Partial {reduced)
Ratio to £

He

Cents from C
Cants from E.T.

Mode on B P

Partial Ssulo)
Partial (reduced)
Ratioto 8

Hz

Cents from C
Cents from E.T.

Modes on D

Partial (scale)
Partial (reduced)
Ratioto D

Hz
Cants from C
Cents From E.T.

Just Intonation with C as the Fundamental, P. Gallagher
The harmony reflects an overtone series with C as the fundamental.

Modal variants based on G, E, BP ,andD

{the 3rd, 5th, 7th and Sth partials) are derived from the pitches present in the serigs on C. Al intervals are just

ratios - small number integer proportions - rather tha

inflection from most flat to most sharp is as follows:
strictly linear divisions of the whole tone in equal temperament. In the end, the ear is the best judge, listening for

the harmonic fusion that is characteristic of overtone tuning.
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(1 cent = 1200th root of 2 = 1.0005778; difterence in cants = log ratioflog 1 cent; log 1 cent = .0002509)




